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13. What is the 8% concentration in a saturated
solution (0,10 M) of H2S, in which the pH has
heen adjusted 1o 6,00 by the sddition of HCI?
For Ha8, Ko = 1.1 % 107 and K = 1.0 % 107

a) L1z 107" M & 12x 10
. L1x 1™ M € 3210t M
c) Lox107 M

14, Which of the following salts will resuli in o

hasic solution when it is dissolved in water?

a) KCI gH T dy MgBr, nubvet
' by NI acdic &) noneof these

@:ﬁ;ﬁ ke

5. What is the pH of a 0.50 M soluiion of NaNO, 7
Far HNOs., K, = 4.5 % 107, -
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16. What is the pH of a 1.0 M solution of NaQOCI?

ar HOC, K, = 3.1 x 10%.
(=) 10.75 dy 10.25
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